Friday maths challenge answer sheet Answers

The paintbrush is 12e¢m long. @
The pen is 3¢m long.

The pack of pencils is 13em tall.
The pack of crayons is 10 cm tall.
The crayons are shorter than the pencils.

The pencils are taller than the crayons.

The scissors are longer than 12¢m because they were placed before ¢
the 0 on the ruler. =

The book is shorter than 13 centimetres because it stops between 12 and
13 on the ruler.

The straight ribbon is 1Sem. The loopy ribbon is longer.

This can be proved by using string or paper strips to demonstrate.

Children measure and sort objects accurately.
N

The tower should be shorter than 19cwm but taller than 10em:
Newm, 12¢m or 13em.
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